KEYSTONE RIDGE

DESIGNS

Installation - Cabaret Table Set

GENERAL INSTALLATION INSTRUCTIONS - Cabaret Table Set
PLEASE READ THESE STEPS BEFORE PROCEEDING
Included with your Cabaret Table Set is the following hardware:

CHAIR

* Four (4) 14 1/2” Square Seats

« Sixteen (16) 3/8” x 1” Stainless Steel Hex Head Bolt
+ Sixteen (16) 3/8” Stainless Steel Flat Washers

1. Match up nuts welded on the underside of seat with holes on the chair base.
2. Place the 3/8” flat washer over 3/8” x 1” hex head bolt and tighten.
The washer should be between the bolt and the chair.

—COUFLIKG HUTE WELDED TO UNDEESIDE CF SEAT

Y !
| {
)

I

A —

/A

|

i

|
__"', f_
!{'\— V22 FLATWASHER — L

T s
e &
- p
"'\-\.,_\_ -~

Ty
%153 HEX HEAL CAPSCREW —

TABLE

* One (1) 30” Square Steel Table Top

* Four (4) 3/8” x 17 Stainless Steel Hex Head Bolt
* Four (4) 3/8” Stainless Steel Flat Washers

Please abide by the following installation instructions:
1. Match up nuts welded on the underside of table with holes on the table base.

2. Place the 3/8” flat washer over 3/8” x 1” hex head bolt and tighten.
The washer should be between the bolt and the table base.

el N,
___r'-‘-'-‘--'_ T J T _ T J__\--\--‘--‘--"‘-.
L 1 | —

ot P ey

‘-\"'1. x
L T 5 HEX BEAD CAR FCREW ==

670 Mercer Road - Butler, PA 16001-1840
Toll-free: 1-800-284-8208 « Phone: 724-284-1213 « Fax: 724-284-1253
© 2012 Keystone Ridge Designs, Inc.® All Rights Reserved. www.keystoneridgedesigns.com




